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Name: Date:

CHAPTER
Equations and Inequalities

Lesson 8.1 Solving Algebraic Equations

Solve each equation using the substitution method.

1. x+8=14 2. y+6=20
X = y=

3. p—9=7 4. k-15=20
p= k =

5. bw=72 6. 159 =60
w= q=

7 le—7 8. 11—Og=‘|2
e= g=

Solve each equation using the concept of balancing.

9. a+14=20 10. b+ 18 =34
a= b=

M. 18=s5-12 12. h—-15=9
s= h =

13. 7k =84 14. %=16
k = m=
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Solve each equation using the concept of balancing. Write all fractional
answers in its simplest form.

1 _5 2_3
15. X+Z—Z 16. y—g—g
X = y=
4 4
17. 8k—; 18. 109—2
k = g=
3 3 2 5
19. Ep—ﬁ 20. 3W—Z
p= w =
21. x+1.8=34 22. p+6.3=91
X = p=
23. y—35=29 24. k—85=27
y= I(:
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25. 3x+25=61 26. 4y —6.2=13
X = y=
27. 3.2k =40 28. 2.4p =36
I(= p=
2 5 2 3
29. W+§—22 30. d_§_1ﬁ
w = d=
3y _ 3=
31. 2= 15 32. 7/( 6
y= k =
Solve.

33. Find three whole numbers, such that when inserted into the equation
below, the value of x = 6.

ax+b=c
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Answers

Lesson 8.1

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

So, x = 6.

. [fy=10,10 + 6 = 16.

If y =14, 14 + 6 = 20.
So, y = 14.

.fp=14,14-9 =5,

fp=16,16 -9 =7.
So, p = 16.

. If k=30,30 — 15 = 15.

If k= 35,35 — 15 = 20.
So, k = 35.

Mw=12,6-12=72.

So, w=12.
. fg=4,15-4=60.
So, g = 4.
.Ife=56,%-56=7.
So,e=56.1
.Ifg=120,ﬁ-120=12.
So, g = 120.
.a+ 14 -14=20- 14
a=~é6
b+ 18 —-18=34 -18
b=16
18+ 12=5—-12+ 12
s=30
h—15+15=9 + 15
h=24
7k -7 =84 =7
k=12
m = .
Z6—166
m = 96
cal_1_5_1
6 6 6 6
4 2
X=—=—
6 3
2 2 3 2
y-5t*5=35 7ty
_5 _
8k+8=3+8
k= -
18
4
10g + 10 = = + 10
-1
9= %5

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

wlu

x+18—-18=34-18
x=1.6
p+63—63=91-63
p=238
y—35+35=29+ 35
y=64
k—85+85=27+385
k=11.2
3x+25-25=61-25
3x = 3.6
3x+3=36+3
x=12
4y — 62+ 62 =13+ 6.2
4y = 19.2
4y + 4 =192 + 4
y=438
0+ 3.2
2.5
6+24
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¥ .4=15.4

4
3y =60
y=20
73,27 .4
3 7 3
k=14
One possible solution:
Ifa=3, b= 2, c= 20, then the equation is
3x+2=20
3x+2-2=20-2
3x =18
x=6

Lesson 8.2

1.

2.

a) w=4z

b) Independent variable: z;
dependent variable: w

a) d=2g-15

b) Independent variable: g;
dependent variable: d
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